



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$\left(\frac{1}{5}\right) + \frac{3}{4} =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right) + \frac{1}{4} =$$

$$\left(\frac{1}{6}\right)^3 + \frac{2}{5} =$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{3} =$$

$$\left(-\frac{1}{4}\right)^3 + \frac{2}{5} =$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{1}{4}\right)^3 - \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right)^2 - \frac{1}{3} =$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right)^0 + \frac{1}{4} =$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^3 + \frac{1}{5} =$$



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$\left(\frac{1}{5}\right) + \frac{3}{4} = \frac{19}{20}$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{4}\right) = \frac{61}{100}$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{1}{2}\right) = \frac{19}{36}$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{2} = \frac{33}{50}$$

$$\left(-\frac{1}{2}\right) + \frac{1}{4} = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{6}\right)^3 + \frac{2}{5} = \frac{437}{1080}$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{1}{3}\right) = \frac{2}{3}$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{3} = \left(-\frac{128}{375}\right)$$

$$\left(-\frac{1}{4}\right)^3 + \frac{2}{5} = \frac{123}{320}$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{2}{5}\right) = \frac{11}{25}$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{3}\right) = \frac{5}{6}$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{2} = \frac{5}{8}$$

$$\left(\frac{1}{4}\right)^3 - \frac{1}{2} = \left(-\frac{31}{64}\right)$$

$$\left(-\frac{1}{5}\right)^2 - \frac{1}{3} = \left(-\frac{22}{75}\right)$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{2}\right) = \frac{71}{250}$$

$$\left(\frac{3}{5}\right) + \left(-\frac{1}{2}\right) = \frac{1}{10}$$

$$\left(-\frac{1}{4}\right)^0 + \frac{1}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{3} = \frac{43}{48}$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{21}{64}\right)$$

$$\left(-\frac{3}{4}\right)^3 + \frac{1}{5} = \left(-\frac{71}{320}\right)$$